Int. J. Open Problems Complex Analysis, Vol. 6, No. 2, July 2014 ISSN 2074-2827; Copyright ©ICSRS Publication, 2014 www.i-csrs.org

A Certain Class of Meromorphic Univalent Functions with Positive and Fixed Second Coefficients

M. K. Aouf

Department of Mathematics, Faculty of Science, University of Mansoura Mansoura 35516, Egyptt. e-mail: mkaouf127@yahoo.com

R. M. EL-Ashwah

Department of Mathematics, Faculty of Science, University of Damietta New Damietta 34517, Egypt. e-mail: r_elashwah@yahoo.com

M. E. Drbuk

Department of Mathematics, Faculty of Science, University of Damietta New Damietta 34517, Egypt. e-mail: drbuk2@yahoo.com

Abstract

In this paper we consider the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$ consisting of analytic meromorphic functions and with fixed second coefficients . In the present paper we have obtained coefficient inequalities for the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$. Also we have shown that this class is closed under arithmetic mean and convex linear combinations. Lastly we have obtained extreme points, growth and distortion bounds and the radius of meromorphically starlikeness for functions in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$.

Keywords and phrases: Analytic, univalent, meromorphic, starlike, uniformly.

2000 Mathematics Subject Classification: 30C45, 30A20, 34A40.

1. Introduction

Let Σ denote the class of functions f of the form :

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n$$
 (1.1)

which are analytic and univalent in the punctured unit disc

$$U^* = \{ z : z \in \mathbb{C}; |z| < 1 \} = U \setminus \{0\}.$$
(1.2)

Let $\Sigma^*(\beta)$ and $\Sigma_c(\beta)$ be the subclasses of Σ consisting of univalent meromorphically starlike of order $\beta(0 \leq \beta < 1)$ and meromorphically convex of $\beta(0 \leq \beta < 1)$, respectively.

Analytically a function f of the form (1.1) is in the class $\Sigma^*(\beta)$ if and only if

$$-Re\left\{\frac{zf'(z)}{f(z)}\right\} > \beta \qquad (z \in U), \qquad (1.3)$$

similarly, $f \in \Sigma_c(\beta)$ if and only if, f is of the form (1.1) and satisfies

$$-Re\left\{1+\frac{zf''(z)}{f'(z)}\right\} > \beta \qquad (z \in U).$$

$$(1.4)$$

Note that

$$f \in \Sigma_c(\beta) \iff -zf' \in \Sigma^*(\beta).$$

The classes defined by Pomerenke [10], Clunie [5] and studied by Aouf and Silverman [3], Kaczmarski [7], Juneja and Reddy [6], Mogra [9] and others.

We define the class Σ_p of functions of the form:

$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n \quad (a_n \ge 0),$$
(1.5)

that are analytic and univalent in U^* .

Reddy et al. [11] introduced and defined the class $\Sigma(\lambda, \alpha, \beta, k)$ of meromorphic functions as follows:

Definition 1 [11]. A function $f \in \Sigma_p$ is said to be in the class $\Sigma(\lambda, \alpha, \beta, k)$ if

$$-Re\left\{\frac{zF'(z)}{F(z)} + \beta\right\} \ge k \left|\frac{zF'(z)}{F(z)} + 1\right| (z \in U),$$

$$(1.6)$$

where $0 \le \alpha \le \lambda < \frac{1}{2}, 0 \le \beta < 1, k \ge 0$ and

$$F(z) = (1 - \lambda + \alpha)f(z) + (\lambda - \alpha)zf'(z) + \lambda\alpha z^2 f''(z).$$

It is noted that

$$\Sigma_p(\lambda, \alpha, \beta, k) = \Sigma(\lambda, \alpha, \beta, k) \cap \Sigma_p$$

Remark 1. (i) Putting $\lambda = \alpha = 0$, we have $\Sigma_p(0, 0, \beta, k) = \Sigma^*(\beta, k)$ and $\lambda = 1, \alpha = 0$, we have $\Sigma_p(1, 0, \beta, k) = \Sigma^*(\beta, k)$, the classes of β - uniformly meromorphic functions were studied by Atshan and Kulkarni [4]; (ii) Putting $\lambda = \alpha = k = 0$, we have $\Sigma_p(0, 0, \beta, 0) = \Sigma^*(\beta)$ (see Aouf and Darwish [1], with $a_0 = 1$).

Motivated by Aouf and Darwish [1], Aouf and Joshi [2], Magesh et al. [8] and others, we shall study the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$.

We begin by recalling the following lemma due to Reddy et al. [10].

Lemma 1 [11]. The necessary and sufficient condition for a function $f \in \Sigma_p$ to be in the class $\Sigma_p(\lambda, \alpha, \beta, k)$ is given by

$$\sum_{n=1}^{\infty} [(n+\beta)+k(n+1)][(n-1)(n\lambda\alpha+\lambda-\alpha)+1]a_n \le (1-\beta)(2\lambda\alpha-2\lambda+2\alpha+1)$$
(1.7)

where $0 \le \alpha \le \lambda < \frac{1}{2}, 0 \le \beta < 1, k \ge 0$.

In view of (1.7), we can see that the function f(z) defined by (1.5) in the class $\Sigma_p(\lambda, \alpha, \beta, k)$ satisfy the coefficient inequality

$$a_1 \le \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)}{2k+\beta+1}.$$
(1.8)

Hence we may take

$$a_1 = \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}, 0 < c < 1.$$
(1.9)

Making use of (1.9), we now introduce the following class of functions: Let $\Sigma_p(\lambda, \alpha, \beta, k, c)$ denote the subclass of $\Sigma_p(\lambda, \alpha, \beta, k)$ consisting of functions of the form:

$$f(z) = \frac{1}{z} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}z + \sum_{n=2}^{\infty} a_n z^n \quad (0 < c < 1). \quad (1.10)$$

We note that:

 $\Sigma_p(0, 0, \beta, 0, c) = \Sigma S_{0,c}^*(\beta)$ [1, with $a_0 = 1$].

In this paper we obtained coefficient inequalities for the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$, we have obtained extreme points, growth and distortion bounds. Also we have shown that this class is closed under arithmetic mean and convex linear combinations. Further, the radii of meromorphic starlikeness is obtained for the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$. Body Math

Body Math 2. Main Results

Theorem 1. Let the function f(z) defined by (1.10). Then $f \in \Sigma_p(\lambda, \alpha, \beta, k, c)$, if and only if

$$\sum_{n=2}^{\infty} [(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]a_n$$
$$\leq (1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c). \qquad (2.1)$$

Proof. Putting

$$a_1 = \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}, 0 < c < 1,$$
(2.2)

In (1.7) and simplifying we get the result.

Remark 1. Putting $\lambda = \alpha = k = 0$ in Theorem 1, we obtain the result obtained by Aouf and Darwish [1, Theorem 1, with $a_0 = 1$].

Corollary 1. If the function f defined by (1.10) is in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$, then

$$a_n \le \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]}, \qquad n \ge 2.$$
(2.3)

The estimates are sharp for the function f(z) be given by

$$f(z) = \frac{1}{z} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}z + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]}z^n, \quad n \ge 2.$$
(2.4)

Next we prove the following growth and distortion properties for the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$.

Theorem 2. If the function defined by (1.10) is in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$, then for 0 < |z| = r < 1, we have

$$\frac{1}{r} - \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}r - \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)}r^2 \le |f(z)|$$

$$\le \frac{1}{r} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}r + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)}r^2.$$
(2.5)

The result is sharp for the function f(z) given by

$$f(z) = \frac{1}{z} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}z + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)}z^2.$$
 (2.6)

Proof. Since $\Sigma_p(\lambda, \alpha, \beta, k, c)$, Theorem 1 yields

$$a_n \le \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)\left(1-c\right)}{\left[(n+\beta) + k\left(n+1\right)\right]\left[(n-1)\left(n\lambda\alpha + \lambda - \alpha\right) + 1\right]}, \qquad n \ge 2.$$

Thus for 0 < |z| = r < 1, we have

$$\begin{split} |f(z)| &\leq \frac{1}{|z|} + \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} |z| + \sum_{n=2}^{\infty} a_n |z|^n \\ &\leq \frac{1}{r} + \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} r + r^2 \sum_{n=2}^{\infty} a_n \\ &\leq \frac{1}{r} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} r + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)} r^2, \end{split}$$

and

$$\begin{split} |f(z)| &\geq \frac{1}{|z|} - \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} \, |z| - \sum_{n=2}^{\infty} a_n \, |z|^n \\ &\geq \frac{1}{r} - \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} r - r^2 \sum_{n=2}^{\infty} a_n \\ &\geq \frac{1}{r} - \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} r - \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)} r^2. \end{split}$$

Thus the proof of Theorem 2 is completed.

Theorem 3. If the function f(z) given by (1.10) is in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$, then for 0 < |z| = r < 1, we have

$$\frac{1}{r^2} - \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} - \frac{2(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)}r \leq |f'(z)|$$

$$\leq \frac{1}{r^2} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} + \frac{2(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)}r.$$
(2.7)

The result is sharp for the function f(z) is given by (2.6).

Proof. In view of Theorem 1, it follows that

$$na_n \le \frac{n(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]}, \qquad n \ge 2.$$
 (2.8)

Thus, 0 < |z| = r < 1 and making use of (2.8) we have

$$|f'(z)| \le \left|\frac{-1}{z^2}\right| + \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} + \sum_{n=2}^{\infty} na_n |z|^{n-1}$$

$$\leq \frac{1}{r^2} + \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} + r\sum_{n=2}^{\infty} na_n$$
$$\leq \frac{1}{r^2} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} + \frac{2(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{(3k+\beta+2)(2\lambda\alpha + \lambda - \alpha + 1)}r,$$

and

$$\begin{split} |f'(z)| &\geq \left|\frac{-1}{z^2}\right| - \frac{\left(1-\beta\right)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} - \sum_{n=2}^{\infty} na_n \left|z\right|^{n-1} \\ &\geq \frac{1}{r^2} - \frac{\left(1-\beta\right)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} - r\sum_{n=2}^{\infty} na_n \\ &\geq \frac{1}{r^2} - \frac{\left(1-\beta\right)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)c}{2k+\beta+1} - \frac{2\left(1-\beta\right)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)\left(1-c\right)}{\left(3k+\beta+2\right)\left(2\lambda\alpha + \lambda - \alpha + 1\right)}r. \end{split}$$

Hence the result follows.

Next, we will show that the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$ is closed under convex linear combination.

Theorem 4. If

$$f_1(z) = \frac{1}{z} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}z,$$
 (2.9)

and

$$f_n(z) = \frac{1}{z} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1} z + \sum_{n=2}^{\infty} \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]} z^n \ (n \ge 2)$$
(2.10)

Then $f \in \Sigma_p(\lambda, \alpha, \beta, k, c)$ if and only if it expressed in the form

$$f(z) = \sum_{n=1}^{\infty} \mu_n f_n(z),$$
 (2.11)

where $\mu_n \ge 0$ and $\sum_{n=1}^{\infty} \mu_n \le 1$.

Proof. From (2.9), (2.10) and (2.11), we get

$$f(z) = \frac{1}{z} + \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}z + \sum_{n=2}^{\infty} \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)\mu_n}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]}z^n.$$
 (2.13)

Since

$$\begin{split} \sum_{n=2}^{\infty} \frac{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)\mu_n}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]} \frac{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]}{(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)} \\ &= \sum_{n=2}^{\infty} \mu_n = 1 - \mu_1 \le 1, \end{split}$$

it follows from Theorem 1 that the function $f \in \Sigma_p(\lambda, \alpha, \beta, k, c)$. Conversely, suppose that $f \in \Sigma_p(\lambda, \alpha, \beta, k, c)$. Since

$$a_n \le \frac{(1-\beta)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)\left(1-c\right)}{\left[(n+\beta) + k\left(n+1\right)\right]\left[(n-1)\left(n\lambda\alpha + \lambda - \alpha\right) + 1\right]}, \qquad n \ge 2.$$

Setting

$$\mu_n = \frac{\left[(n+\beta) + k\left(n+1\right)\right]\left[(n-1)\left(n\lambda\alpha + \lambda - \alpha\right) + 1\right]}{\left(1-\beta\right)\left(2\lambda\alpha - 2\lambda + 2\alpha + 1\right)\left(1-c\right)}a_n$$

and

$$\mu_1 = 1 - \sum_{n=2}^{\infty} \mu_n < 1,$$

we get

$$f(z) = \sum_{n=1}^{\infty} \mu_n f_n(z)$$
. (2.14)

This completes the proof of Theorem 4.

Theorem 5. The class $\Sigma_p(\lambda, \alpha, \beta, k, c)$ is closed under convex linear combination.

Proof. Suppose that each of the function $f_{j}(z)$ given by

$$f_j(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,j} z^n, j = 1, 2$$

is in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$. We need to prove that the function h(z) given by

$$h(z) = \mu f_1(z) + (1 - \mu) f_2(z) (0 \le \mu \le 1)$$

is also in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$. Since

$$h(z) = \frac{1}{z} + \sum_{n=1}^{\infty} [\mu a_{n,1} + (1-\mu) a_{n,2}] z^n.$$

Consider

$$\sum_{n=1}^{\infty} [(n+\beta) + k (n+1)][(n-1) (n\lambda\alpha + \lambda - \alpha) + 1][\mu a_{n,1} + (1-\mu) a_{n,2}]$$

$$= \left[\mu \sum_{n=1}^{\infty} [(n+\beta) + k (n+1)][(n-1) (n\lambda\alpha + \lambda - \alpha) + 1]a_{n,1} + (1-\mu) \sum_{n=1}^{\infty} [(n+\beta) + k (n+1)][(n-1) (n\lambda\alpha + \lambda - \alpha) + 1]a_{n,2}]\right]$$

$$\leq \mu (1-\beta) (2\lambda\alpha - 2\lambda + 2\alpha + 1) + (1-\mu) (1-\beta) (2\lambda\alpha - 2\lambda + 2\alpha + 1)$$

$$\leq (1-\beta) (2\lambda\alpha - 2\lambda + 2\alpha + 1).$$

Thus from Theorem 1, $h(z) \in \Sigma_p(\lambda, \alpha, \beta, k, c)$. Hence the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$ is closed under linear combination.

Now we determine the radii of meromorphically starlikeness and convexity of order δ for function in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$.

Theorem 6. Let the function f(z) defined by (1.10) be in the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$, then f is meromorphically starlike of order δ ($0 \le \delta < 1$) in $0_i |z| < r_1(\lambda, \alpha, \beta, k, c, \delta)$, where $r_1(\lambda, \alpha, \beta, k, c, \delta)$, is the largest value for which

$$\frac{(3-\delta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}r^2 + \frac{(n+2-\delta)(1-\beta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)(1-c)}{[(n+\beta) + k(n+1)][(n-1)(n\lambda\alpha + \lambda - \alpha) + 1]}r^{n+1} \le (1-\delta) \ (n \ge 2)$$

The result is sharp for the function f(z) is given by (2.4).

Proof. Suppose $f \in \Sigma_p(\lambda, \alpha, \beta, k, c)$, it is sufficient to show that

$$\left| 1 + \frac{zf'(z)}{f(z)} \right| \le 1 - \delta, \qquad \text{(for } 0 \le \delta < 1, 0 < |z| < r_1(\lambda, \alpha, \beta, k, c, \delta)\text{)}.$$
(2.15)

Replacing f(z) and zf'(z) with their equivalent series expansions in the left hand side of (2.15), we get

$$\left|1 + \frac{zf'(z)}{f(z)}\right| = \left|\frac{-\frac{1}{z} + \frac{(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}z + \sum_{n=2}^{\infty} na_n z^n + \frac{1}{z} + \frac{(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}z + \sum_{n=2}^{\infty} a_n z^n}{\frac{1}{z} + \frac{(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}z + \sum_{n=2}^{\infty} a_n z^n}\right|.$$
(2.16)

Hence (2.16) holds true if

$$\frac{2(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}r^2 + \sum_{n=2}^{\infty} (n+1)a_n r^{n+1}$$

$$\leq 1 - \delta) \left[1 - \frac{(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k + \beta + 1}r^2 - \sum_{n=2}^{\infty} a_n r^{n+1} \right],$$

or,

$$\frac{(3-\delta)(2\lambda\alpha - 2\lambda + 2\alpha + 1)c}{2k+\beta+1}r^2 + \sum_{n=2}^{\infty}(n+2-\delta)a_nr^{n+1} \le (1-\delta),$$

For each fixed r we choose the positive integer $n_0 = n_0(r)$ for which

$$\frac{(n+2-\delta)}{[(n+\beta)+k(n+1)][(n-1)(n\lambda\alpha+\lambda-\alpha)+1]}a_nr^{n+1}$$

is maximal. Then it follows that

$$\sum_{n=2}^{\infty} (n+2-\delta)a_n r^{n+1} \le \frac{(n_0+2-\delta)(1-\beta)(2\lambda\alpha-2\lambda+2\alpha+1)(1-c)}{[(n_0+\beta)+k(n_0+1)][(n_0-1)(n_0\lambda\alpha+\lambda-\alpha)+1]} r^{n_0+1}.$$

Then f is meromorphically starlike in $0 < |z| < r_1(\lambda, \alpha, \beta, k, c, \delta)$ of order δ provided that

$$\frac{(3-\delta)(2\lambda\alpha-2\lambda+2\alpha+1)c}{2k+\beta+1}r^2 + \frac{(n_0+2-\delta)(1-\beta)(2\lambda\alpha-2\lambda+2\alpha+1)(1-c)}{[(n_0+\beta)+k(n_0+1)][(n_0-1)(n_0\lambda\alpha+\lambda-\alpha)+1]}r^{n_0+1} \le (1-\delta).$$
(2.17)

We find the value $r_0 = r_0(\lambda, \alpha, \beta, k, c, \delta)$ and the corresponding integer $n_0(r_0)$ so that

$$\frac{(3-\delta)(2\lambda\alpha-2\lambda+2\alpha+1)c}{2k+\beta+1}r_0^2 + \frac{(n_0+2-\delta)(1-\beta)(2\lambda\alpha-2\lambda+2\alpha+1)(1-c)}{[(n_0+\beta)+k(n_0+1)][(n_0-1)(n_0\lambda\alpha+\lambda-\alpha)+1]}r_0^{n_0+1} = (1-\delta).$$
(2.18)

Then this value r_0 is the radius of meromorphically starlikeness for functions f(z) belonging to the class $\Sigma_p(\lambda, \alpha, \beta, k, c)$. This completes the proof of Theorem 6.

References

 M. K. Aouf and H. E. Darwish, Certian meromorphically starlike functions with positive and fixed second coefficients, Turkish J. Math., 21 (1997), no. 3, 311–316.

- [2] M. K. Aouf and S. B. Joshi, On certian subclasses of meromorphically starlike functions with positive coefficients, Soochow J. Math., 24 (1998), no. 2, 79–90.
- [3] M. K. Aouf and H. Silverman Generalization of Hadamard products of certian meromorphic univalent functions with positive coefficients, Demonstratio Math., 41 (2008), no. 2, 381-388.
- [4] W. G. Atshan and S. R. Kulkarni, Subclass of meromorphic functions with positive coefficients defined by Ruscheweyh derivative I, J. Rajasthan Acad. Phy. Sci., 6 (2007), no. 2, 129-140.
- [5] J. Clunie, On meromorphic schlicht functions, J. Lond. Math. Soc., 34 (1959), 215-216.
- [6] O. P. Juneja and T. R. Reddy, Meromorphic starlike univalent functions with positive coefficients, Ann. Univ. Mariae Curie-Sklodowska Sect. A 39 (1985), 65-76.
- J. Kaczmarski, On the coefficients of some classes of starlike functions, Bull. Acad. Polon. Sci Ser. Sci. Math. Astronom Phys., 17 (1969), 495-501.
- [8] N. Magesh, N. B. Gatti and S. Mayilvaganan, On certain subclass of meromorphic functions with positive associated with Liu-Srivastava linear operator, Internat. Scholarly Research Network ISRN Math. Analysis, (2012), Art., ID 6983307, 11.
- [9] M. L. Mogra, Hadamard product of certain meromorphic univalent functions, with positive coefficients, J. Math. Anal. Appl., 157 (1991), no. 1, 10-16.
- [10] Ch. Pommerenke, On meromorphic starlike functions, Pacific J. Math. 13 (1963), 221-235.
- [11] T. Ram Reddy, R. B. Sharma and K. Saroja, A new subclass of meromorphic functions with positive coefficients, Indian J. Pure Appl. Math., 44 (2013), no. 1, 29-46.